Btk SAFANSEEEBLEFREANERAE

iRl AORMEWEERT TAM ME:  ATEmE 0 O #/H B/E

WEETFIEAR (100 2

1.

Suppose £, cofi is growing in a growth medium containing laciose as the sole source of
carbon. The genotype is I' Z* Y*. Glucose is then added. Which of the following will
happen? (5%)

(I)Nothing

(2} Laclose will no longer be utifized by the cell.

(3) The lac repressor will bind to the operator.

How many subunils are in E. coli RNA polymerase holoenzyme, and which one is
responsible for correctly positioning the enzyme on a promoter? (5%)

3. What are RFLPs and how did they artise? (5%)
4. List ihree properties of an ideal cloning vector. (5%)

5. List two differences between prbkaryutic and eukaryotic transiation (ignore differences

in rihosome structure). {(5%)

6. What are the repressor and corepressor? (5%)

7. Two proteins are synthesized initially at the samegtime because the two RNAs encoding
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each protein are made in response to the same signal. At a later time, when fhe
transcription signal is no longer present, one of the proteins is stitl made at nearly the
same rate, and the other is not detecied. Suggest a means for this temporal programming,.
(5%)

List two main mechanisms of mutation, (5%)

What noncovalent interactions are involved .in maintaining the doubje-helical
conformation of DNA?  (5%) '

What are the GU/AG rule and the Chargaff® s fule?. (5%}
Outline the general differences between prokaryotic and eukaryotic mRNAs. (5%)

Two kinds of terminators have beeh found in E coli: intrinsic terminator and rho-
dependent lerminator. What are the structural features of the intrinsic terminator? (5%)

Why is a lambda phage-created lysogen usually ‘immune’ against re-infection by
another lambda phage? (5%)

IHow is the replication of the lagging strand accomplished. (5%)

Name the major enzymatic activity of DNA polymerase I, I, and III of E. coli. (10%).
What is the difference between conservative and replicative transposition? Wliat base-
sequence is duplicated in both types? {10%) g

What is the difference between a genomic library and a ¢DNA library? Give an
advantage of each type of clone. {(10%)




